
Canonbury Home Learning 
Year 2 Maths 
Steppingstone activity 
Lesson 1 – 18.05.2020 
LO: To count to and across 100, forwards and backwards, beginning with 0 or 1, or from any given number 
Success Criteria:  

1. Look at the 100 square and try to count through all the numbers 

2. Read the questions 

3. Look at the pictures carefully 

4. Answer the questions in your book 
 

Model: 
 
 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

1a. What is the number shown? 

        
1b. What is the number shown? 

 

2. What is the number shown? 
 

 

3a. Fill in the missing cards.

 
 

3b. Fill in the missing cards. 

 

4a. Fill in the missing cards.

 
 

4b. Fill in the missing cards. 

 

5. There are 10 eggs in each 
basket. How many eggs are there 
altogether? 
 
 

 
 

 

6. There are 10 tickets in each 
purple pile. How many tickets are 
there altogether? 
 

 



Canonbury Home Learning 
Year 2 Maths    

Lesson 1 – 18.05.2020 

LO: To choose and use appropriate standard units to estimate and measure length/height in any direction (m/cm) to the nearest appropriate unit using rulers 

Task:  

You are going to be measuring length in centimetres (cm) 

Success Criteria: 

1. If you have a ruler at home, find three things to measure and write their measurements down to the nearest centimetre (cm) 

2. Task 1: Look at where the arrow is pointing to on the ruler, and jump on the amount of cm given (e.g. 4 cm = 4 jumps – just like with a number line!) 

3. Task 2: Measure the objects and write their lengths – remember to look out for where the objects start on the ruler as well as finish!! 

4. Answer as many reasoning and problem solving questions as you can  
 

Model:  
 

 

 

 

 

 

 

 

 

 

 

 

1. 
2. 

3. 

Macy draws an 8cm line. She starts at the 

arrow. What number will she finish at? 

Remember to 

start your 

measuring at 

0cm (I did here 

but it’s hard to 

tell because of 

the camera 

angle). 

Remember to look at where the object starts 

and measure from there e.g. the car starts at 

2cm and finishes at 7cm. 7cm – 2cm = 5cm. 



Canonbury Home Learning 
Year 2 Maths 

Main activity 

Complete at least 2 columns, more if you can! 

Task 1 Task 2 Task 3 Task 4 

Practice 
1. Sam draws a 3cm 
line. He starts at the 
arrow. What number 
will he finish at? 
 
 
 
2. Alex draws a 5cm 
line. She starts at the 
arrow. What number 
will she finish at? 
 
 
 
 

3. Ben draws a 6cm 
line. He starts at the 
arrow. What number 
will he finish at? 
 
 
 
 

Practice 
How long are these objects? 
1. A = ____ cm 
 

1.  
 
 
 
 
 
 
 

 
 

 
2. 
 
 
 
 
 
 
 
 
3. 

Reasoning 
Explain your answers.  
 

Problem  solving  


